YpaBHeHHMS ¢ MOAYJIEM

| f(@)] = |g(z)]

| f(z)] = g(x)



PemuTe vypaBHeHME:

|x - 4| = |5x|. |x2 + Tx| = 4x + 10.



HepaBeHcTBa ¢ MOayJIeM
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Pemuth HepaBeHCTBA:

a) |x - 2| < 8;
6) |5 — 3x| > 6.




HepaBeHcTBa ¢ MOayJIeM

f(x)< g(x),
S (x)>—g(x).

(0] <g(x) &

f(x)>g(x),

f(0)] > g(x) & ()< —g(x)

B) |x -14| < 8 + 2x; r) |-x2 — x| > 4x - 2.



HepaBeHcTBa ¢ MOayJIeM
() <|g(x)
F2(x)< g*(x)

((x)=g(x))-(f(x)+ g(x))<0

|3—X|>|2X+1|



OOMALIHEE 3AOAHUE
Ne 1338-1341, 1400 (uer)



Cnacu6o 3a ypok!




HepaBeHcTBa ¢ MOayJIeM

1) |X2 —3‘ > ()
2) x* =3l < -2
3) [2x —1] <3

A1 +3x|>x°+3

5) |x* —8X+15|<X—3




